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| Time: 10 Minutes | Paper Math 6 (T-1) |  Total Marks: 10

| 2nd Month, 4th Week, 1st Day | Review Exercise 4 Complete |

Q.1. Choose the correct options. 05x6=3) -/ /.fl?"'lg,«lﬁw/;

(i) The first element in ratio is called: ‘gt’lkfugll;;ufw
(a) | consequent e (f{ (b) | antecedent L2305 C‘.f"
(¢) | numerator o (d) | denominator )4

(ii) The symbol of percent is: 29:/1196/#’(.}
@ - (b) x (© + (@) %o

(iii) 130% of 200 is: :4‘;M43130(200
(a) 210 (b) 230 (©) 250 (d) 260

(iv) A decrease of 7% in Rs. 1200 is: :+JJM(37U54;;/1200
(@) |Rs. 70 &-2,70((b) [Rs. 74 &-2,74|(¢) |Rs. 84 <284 (d) |Rs. 90 2,90

(v) The ratio has no: ZLyiu.?}  Led
(a) [symbol «~k|(b)|value 4‘4{!‘: (c) [importance=4/| (d) | unit <y

(vi) 12 out of 15 can be written in percentage as: :g;_M(}lZK 15
(a) 70% (b) 80% (c) 85% (d) 90%

W Answer the following questions: - ).,«I;ZL.:,U’)’J" RO%)

Q.2. Define ratio and percentage. (1x2=2) -Q_’/bg/.’.dlﬂ(.}/;l@-gj

Q.3. What is 14% of 502 (1x2=2) S ke 314650

Q.4. Aleezey bought a doll for Rs. 1500 getting a decrease of 30%. Find

original price of the doll. (1x3=3)
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